	LATION - BID #2 Iron Horse Blvd Im		C	OMPANY	COMPANY		COMPANY		COMPANY		COMPANY		COMPANY	
Date:	12/20/2022			THE FAIN GROUP ED BELL CONSTRUCTION COMPANY DDM CONSTRUCTION CORP.		XIT PAVING AND CONSTRUCTION COMPANY		MCCLENDON CONSTRUCTION COMPANY, INC.						
Item No.	Total Ur Quantity	nit Description	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
Section 1 - General And Removals														
1	4 E/	furnish and install, complete in place.	\$531.00	\$2,124.00	\$500.00	\$2,000.00	\$700.00	\$2,800.00	\$1,000.00	\$4,000.00	\$1,291.00	\$5,164.00	\$2,000.00	\$8,000.00
2	1 L\$	S Joint Storm Water Pollution Prevention Plan, implemented and maintained, including preparat Notice of Intent and Notice of Termination, comp in place.	ion of \$12,000,00	\$12,000.00	\$100,100.00	\$100,100.00	\$24,000.00	\$24,000.00	\$50,000.00	\$50,000.00	\$14,554.00	\$14,554.00	\$98,250.00	\$98,250.00
3	42 ST	work fully performed complete in place.	\$7,142.00	\$299,964.00	\$7,000.00	\$294,000.00	\$4,335.00	\$182,070.00	\$7,000.00	\$294,000.00	\$7,500.00	\$315,000.00	\$5,350.00	\$224,700.12
4	42 ST	work fully performed complete in place.	\$260.00	\$10,920.00	\$7,000.00	\$294,000.00	\$3,435.00	\$144,270.00	\$2,000.00	\$84,000.00	\$2,500.00	\$105,000.00	\$5,100.00	\$214,200.00
5	14 E/	complete in place		\$9,870.00	\$1,000.00	\$14,000.00	\$2,119.37	\$29,671.18	\$1,000.00	\$14,000.00	\$823.00	\$11,522.00	\$1,450.00	\$20,300.00
6	1,721 S	work fully performed.	\$4.00	\$6,884.00	\$2.50	\$4,302.50	\$2.18	\$3,751.78	\$2.00	\$3,442.00	\$2.00	\$3,442.00	\$6.50	\$11,186.50
7	12,667 S	Sawcut and Remove Existing Concrete Paver F and Flatwork, work fully performed.	<b>nent</b> \$3.00	\$38,001.00	\$2.00	\$25,334.00	\$2.29	\$29,007.43	\$2.00	\$25,334.00	\$3.00	\$38,001.00	\$7.50	\$95,002.50
8	7,335 LI	work fully performed	\$12.00	\$88,020.00	\$10.00	\$73,350.00	\$7.14	\$52,371.90	\$7.00	\$51,345.00	\$12.00	\$88,020.00	\$9.00	\$66,015.00
9	237,824 S	F Remove Asphalt Pavement, work fully performed.	\$1.00	\$237,824.00	\$0.90	\$214,041.60	\$0.97	\$230,689.28	\$1.00	\$237,824.00	\$0.50	\$118,912.00	\$4.50	\$1,070,208.00
Subtotal	- Section 1 - Gene	eral and Removals		\$705,607.00		\$1,021,128.10		\$698,631.57		\$763,945.00	00 \$699,615.00		0 \$1,807,862	
Section 2 -	Paving													
10	8,564 C	Y Unclassified Street Excavation, work fully performed complete in place.	\$24.00	\$205,536.00	\$25.00	\$214,100.00	\$25.21	\$215,898.44	\$32.00	\$274,048.00	\$46.00	\$393,944.00	\$37.00	\$316,868.00
11	433 C	Y Embankment, work fully performed complete in place.	\$25.00	\$10,825.00	\$25.00	\$10,825.00	\$8.80	\$3,810.40	\$140.00	\$60,620.00	\$14.00	\$6,062.00	\$65.00	\$28,145.00
12	23,263 S	work fully performed, complete in place	\$5.00	\$116,315.00	\$5.00	\$116,315.00	\$4.50	\$104,683.50	\$7.00	\$162,841.00	\$9.00	\$209,367.00	\$7.50	\$174,472.50
13	610 Tc	work fully performed	\$305.00	\$186,050.00	\$265.00	\$161,650.00	\$324.00	\$197,640.00	\$320.00	\$195,200.00	\$450.00	\$274,500.00	\$325.00	\$198,250.00
14	20,078 S	8-inch Thick, 3,600 psi Portland Cement Reinforced Concrete Pavement including 6" Monolithic Curb, construct complete in place.	\$98.00	\$1,967,644.00	\$94.00	\$1,887,332.00	\$107.80	\$2,164,408.40	\$100.00	\$2,007,800.00	\$101.00	\$2,027,878.00	\$86.00	\$1,726,708.00
15	7,994 SI	6-inch Thick, 3,600 psi Portland Cement Reinforced Concrete Pavement including 6" Monolithic Curb,	\$10.00	\$79,940.00	) \$12.50	\$99,925.00	\$11.15	\$89,133.10	\$11.00	\$87,934.00	\$14.00	\$111,916.00	\$12.00	\$95,928.00
16	5,631 S	F Construct complete in place. 6-inch Thick, 3,000 psi Portland Cement Cond including 6" Monolithic Curb for Driveway Approaches, construct complete in place.	<b>crete</b> \$10.00	\$56,310.00	) \$12.00	\$67,572.00	\$11.17	\$62,898.27	\$12.00	\$67,572.00	\$14.00	\$78,834.00	\$13.00	\$73,203.00
17	258 S	Stained and Stamped Concrete Crosswalk	\$26.00	\$6,708.00	) \$27.00	\$6,966.00	\$20.63	\$5,322.54	\$45.00	\$11,610.00	\$29.00	\$7,482.00	\$24.00	\$6,192.00

	ID TABULATION - BID #23-005 roject: Iron Horse Blvd Improvements				COMPANY		COMPANY		COMPANY		COMPANY		COMPANY		MPANY
Date:	12/20/2022			THE F	AIN GROUP	ED BELL CONSTRUCTION COMPANY		TISEO PAVING COMPANY		DDM CONSTRUCTION CORP.		XIT PAVING AND CONSTRUCTION COMPANY		MCCLENDON CONSTRUCTION COMPANY, INC.	
Item No.	Total Quantity	Unit	Description	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
18	905		Stained and Stamped Concrete Crosswalk Pavement (6"), work fully performed	\$22.00	\$19,910.00	\$18.00	\$16,290.00	\$18.04	\$16,326.20	\$53.00	\$47,965.00	\$29.00	\$26,245.00	\$22.00	\$19,910.00
19	543	SF	HMAC Transition Pavement, work fully performed	\$18.00	\$9,774.00	\$12.60	\$6,841.80	\$43.25	\$23,484.75	\$29.00	\$15,747.00	\$17.00	\$9,231.00	\$15.00	\$8,145.00
20	15,873	SF	4-inch Thick, 3,000 psi Portland Cement Concrete for Sidewalks, construct complete in place.	\$8.00	\$126,984.00	\$8.25	\$130,952.25	\$7.04	\$111,745.92	\$9.00	\$142,857.00	\$10.00	\$158,730.00	\$9.00	\$142,857.00
21	6,353	SF	Stained and Stamped Concrete Median Riprap, work fully performed.	\$22.00	\$139,766.00	\$14.00	\$88,942.00	\$22.11	\$140,464.83	\$30.00	\$190,590.00	\$35.00	\$222,355.00	\$13.00	\$82,589.00
22	533	SF	Monolithic Median Nose, work fully performed.	\$10.00	\$5,330.00	\$24.00	\$12,792.00	\$27.00	\$14,391.00	\$50.00	\$26,650.00	\$76.00	\$40,508.00	\$25.00	\$13,325.00
23	50	LF	Integral Sidewalk Retaining Wall (1.5' Tall or Less), construct complete in place	\$100.00	\$5,000.00	\$100.00	\$5,000.00	\$192.50	\$9,625.00	\$120.00	\$6,000.00	\$139.00	\$6,950.00	\$125.50	\$6,275.00
24	19	EA	5-Foot Wide TxDOT Type 7 Barrier-Free Ramp, construct complete in place.	\$1,900.00	\$36,100.00	\$2,500.00	\$47,500.00	\$2,227.50	\$42,322.50	\$2,300.00	\$43,700.00	\$1,987.00	\$37,753.00	\$2,200.00	\$41,800.00
25	3	EA	5-Foot Wide TxDOT Type 7 Barrier-Free Ramp (Mod), construct complete in place.	\$2,000.00	\$6,000.00	\$4,000.00	\$12,000.00	\$2,337.50	\$7,012.50	\$2,700.00	\$8,100.00	\$2,296.00	\$6,888.00	\$3,300.00	\$9,900.00
26	4	EA	6-Foot Wide TxDOT Type 10 Barrier-Free Ramp, construct complete in place.	\$1,800.00	\$7,200.00	\$2,500.00	\$10,000.00	\$2,447.50	\$9,790.00	\$3,200.00	\$12,800.00	\$2,442.00	\$9,768.00	\$3,950.00	\$15,800.00
27	14	МО	Barricades, Warning and Detour Signs, work fully performed	\$3,500.00	\$49,000.00	\$15,500.00	\$217,000.00	\$19,735.00	\$276,290.00	\$4,000.00	\$56,000.00	\$8,680.00	\$121,520.00	\$7,650.00	\$107,100.00
28	3,246	SY	Temporary Asphalt Detour Pavement, work fully performed	\$41.00	\$133,086.00	\$63.00	\$204,498.00	\$80.00	\$259,680.00	\$80.00	\$259,680.00	\$37.00	\$120,102.00	\$59.50	\$193,137.00
Subtota	I - Section 2 - Pa	aving			\$3,167,478.00		\$3,316,501.05		\$3,754,927.35		\$3,677,714.00		\$3,870,033.00		\$3,260,604.50
Section 3	- Storm Draiı	n													
29	1,116	LF	Remove Existing Storm Drain Pipe (Various Sizes), work fully performed.	\$46.00	\$51,336.00	\$31.50	\$35,154.00	\$11.00	\$12,276.00	\$32.00	\$35,712.00	\$43.00	\$47,988.00	\$50.00	\$55,800.00
30	10	EA	Remove Existing Inlet / Manhole (Various Sizes), work fully performed.	\$3,300.00	\$33,000.00	\$1,575.00	\$15,750.00	\$1,980.00	\$19,800.00	\$1,500.00	\$15,000.00	\$754.00	\$7,540.00	\$800.00	\$8,000.00
31	4,087	LF	<b>Trench Safety,</b> furnish and install where required by OSHA Standards that are in effect at the time of bidding, complete in place.	\$7.00	\$28,609.00	\$2.10	\$8,582.70	\$1.10	\$4,495.70	\$3.00	\$12,261.00	\$1.00	\$4,087.00	\$1.00	\$4,087.00
32	40	LF	Controlled Low-Strength Material Pipe Encasement (CLSM), work fully performed.	\$220.00	\$8,800.00	\$132.00	\$5,280.00	\$63.80	\$2,552.00	\$130.00	\$5,200.00	\$135.00	\$5,400.00	\$125.00	\$5,000.00
33	8	LF	<b>12-inch PVC Storm Drain (open cut),</b> furnish and install including Excavation, Embedment and Backfill, complete in place.	\$70.00	\$560.00	\$420.00	\$3,360.00	\$176.00	\$1,408.00	\$180.00	\$1,440.00	\$112.00	\$896.00	\$115.00	\$920.00
34	1,731	LF	24-inch Class III Reinforced Concrete Storm Drain (open cut), furnish and install including Excavation, Embedment and Backfill, complete in place.	\$145.00	\$250,995.00	\$120.75	\$209,018.25	\$147.40	\$255,149.40	\$146.00	\$252,726.00	\$145.00	\$250,995.00	\$161.00	\$278,691.00
35A	494	LF	<b>30-inch Class III Reinforced Concrete Storm Drain</b> <b>(open cut)</b> , furnish and install including Excavation, Embedment and Backfill, complete in place.	\$250.00	\$123,500.00	\$126.00	\$62,244.00	\$184.80	\$91,291.20	\$180.00	\$88,920.00	\$183.00	\$90,402.00	\$196.00	\$96,824.00

	ABULATION - BID #23-005 t: Iron Horse Blvd Improvements				MPANY	COMPANY		COMPANY		COMPANY		COMPANY		COMPANY	
Date:	12/20/2022			THE FAIN GROUP		ED BELL CONSTRUCTION COMPANY		TISEO PAVING COMPANY		DDM CONSTRUCTION CORP.		XIT PAVING AND CONSTRUCTION COMPANY		MCCLENDON CONSTRUCTION COMPANY, INC.	
Item No.	Total Quantity	Unit	Description	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
35B	209	LF	<b>30-inch Class IV Reinforced Concrete Storm Drain</b> <b>(open cut)</b> , furnish and install including Excavation, Embedment and Backfill, complete in place.	\$265.00	\$55,385.00	\$136.50	\$28,528.50	\$194.70	\$40,692.30	\$185.00	\$38,665.00	\$188.00	\$39,292.00	\$201.00	\$42,009.00
36A	1,160	LF	<b>36-inch Class III Reinforced Concrete Storm Drain</b> <b>(open cut),</b> furnish and install including Excavation, Embedment and Backfill, complete in place.	\$295.00	\$342,200.00	\$178.50	\$207,060.00	\$233.20	\$270,512.00	\$225.00	\$261,000.00	\$226.00	\$262,160.00	\$236.00	\$273,760.00
36B	65	LF	<b>36-inch Class III Elliptical Reinforced Concrete</b> <b>Storm Drain (open cut),</b> furnish and install including Excavation, Embedment and Backfill, complete in place.	\$595.00	\$38,675.00	\$378.00	\$24,570.00	\$476.30	\$30,959.50	\$380.00	\$24,700.00	\$415.00	\$26,975.00	\$420.00	\$27,300.00
36C	148	LF	<b>36-inch Class IV Reinforced Concrete Storm Drain</b> ( <b>open cut</b> ), furnish and install including Excavation, Embedment and Backfill, complete in place.	\$340.00	\$50,320.00	\$210.00	\$31,080.00	\$253.00	\$37,444.00	\$240.00	\$35,520.00	\$248.00	\$36,704.00	\$264.00	\$39,072.00
37A	51	LF	42-inch Class III Reinforced Concrete Storm Drain (open cut), furnish and install including Excavation, Embedment and Backfill, complete in place.	\$390.00	\$19,890.00	\$262.50	\$13,387.50	\$295.90	\$15,090.90	\$290.00	\$14,790.00	\$285.00	\$14,535.00	\$304.00	\$15,504.00
37B	92	LF	42-inch Class IV Reinforced Concrete Storm Drain (open cut), furnish and install including Excavation, Embedment and Backfill, complete in place.	\$460.00	\$42,320.00	\$283.50	\$26,082.00	\$326.70	\$30,056.40	\$330.00	\$30,360.00	\$318.00	\$29,256.00	\$337.50	\$31,050.00
38A	59	LF	<b>48-inch Class III Reinforced Concrete Storm Drain</b> ( <b>open cut</b> ), furnish and install including Excavation, Embedment and Backfill, complete in place.	\$480.00	\$28,320.00	\$315.00	\$18,585.00	\$354.20	\$20,897.80	\$385.00	\$22,715.00	\$350.00	\$20,650.00	\$367.50	\$21,682.50
38B	26	LF	<b>48-inch Class IV Reinforced Concrete Storm Drain</b> ( <b>open cut</b> ), furnish and install including Excavation, Embedment and Backfill, complete in place.	\$620.00	\$16,120.00	\$393.75	\$10,237.50	\$443.30	\$11,525.80	\$550.00	\$14,300.00	\$441.00	\$11,466.00	\$452.50	\$11,765.00
39	43	LF	54-inch Class IV Reinforced Concrete Storm Drain (open cut), furnish and install including Excavation, Embedment and Backfill, complete in place.	\$800.00	\$34,400.00	\$498.75	\$21,446.25	\$438.90	\$18,872.70	\$680.00	\$29,240.00	\$431.00	\$18,533.00	\$442.50	\$19,027.50
40	7		4-foot Square Storm Drain Manhole, construct complete in place.	\$9,900.00	\$69,300.00	\$10,500.00	\$73,500.00	\$7,612.00	\$53,284.00	\$6,700.00	\$46,900.00	\$7,967.00	\$55,769.00	\$8,050.00	\$56,350.00
41	5	FΔ	5-foot Square Storm Drain Manhole, construct complete in place.	\$14,800.00	\$74,000.00	\$12,600.00	\$63,000.00	\$10,362.00	\$51,810.00	\$8,300.00	\$41,500.00	\$11,628.00	\$58,140.00	\$11,575.00	\$57,875.00
42	1	FΔ	6-foot Square Storm Drain Manhole, construct complete in place.	\$16,500.00	\$16,500.00	\$13,650.00	\$13,650.00	\$12,210.00	\$12,210.00	\$9,000.00	\$9,000.00	\$15,288.00	\$15,288.00	\$15,050.00	\$15,050.00
43	12		10-foot Standard Curb Inlet, construct complete in place.	\$10,000.00	\$120,000.00	\$10,500.00	\$126,000.00	\$7,425.00	\$89,100.00	\$7,000.00	\$84,000.00	\$6,460.00	\$77,520.00	\$6,650.00	\$79,800.00
44	8	FA	15-foot Standard Curb Inlet, construct complete in place.	\$13,500.00	\$108,000.00	\$12,600.00	\$100,800.00	\$9,790.00	\$78,320.00	\$9,000.00	\$72,000.00	\$7,752.00	\$62,016.00	\$9,150.00	\$73,200.00
45	4	FΔ	20-foot Standard Curb Inlet, construct complete in place.	\$16,500.00	\$66,000.00	\$14,700.00	\$58,800.00	\$11,990.00	\$47,960.00	\$10,500.00	\$42,000.00	\$9,582.00	\$38,328.00	\$10,050.00	\$40,200.00
46	1	FΔ	<b>10-foot Standard Open-Back Curb Inlet,</b> construct complete in place, including flume.	\$12,500.00	\$12,500.00	\$12,600.00	\$12,600.00	\$10,010.00	\$10,010.00	\$11,500.00	\$11,500.00	\$7,967.00	\$7,967.00	\$8,550.00	\$8,550.00
47	6	FΔ	<b>10-foot TXDOT Type I-CU Inlet</b> , construct complete in place.	\$13,750.00	\$82,500.00	\$15,500.00	\$93,000.00	\$13,970.00	\$83,820.00	\$13,000.00	\$78,000.00	\$9,151.00	\$54,906.00	\$9,950.00	\$59,700.00
48	18	s٧	18" Rock Riprap, work fully performed, construct complete in place	\$100.00	\$1,800.00	\$250.00	\$4,500.00	\$165.00	\$2,970.00	\$120.00	\$2,160.00	\$102.00	\$1,836.00	\$115.00	\$2,070.00
Subtotal	- Section 3 - St		· · ·		\$1,675,030.00		\$1,266,215.70		\$1,292,507.70		\$1,269,609.00		\$1,238,649.00		\$1,323,287.00

	<u>D #23-</u> vd Impro		COMPANY		COMPANY		CC	OMPANY	CC	OMPANY	COMPANY		COMPANY	
Date: 12/20/2022			THE F.	AIN GROUP			TISEO PA	VING COMPANY	DDM CONS	TRUCTION CORP.	-			N CONSTRUCTION PANY, INC.
Total Quantity	Unit	Description	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost	Unit Cost	Total Cost
Water & Se	ewer													
10		Adjust Existing Water Line,	\$7,600.00	\$76,000.00	\$10,000.00	\$100,000.00	\$6,600.00	\$66,000.00	\$8,000.00	\$80,000.00	\$11,305.00	\$113,050.00	\$12,000.00	\$120,000.00
2		Adjust Existing Water Meter	\$800.00	\$1,600.00	\$2,100.00	\$4,200.00	\$1,375.00	\$2,750.00	\$1,400.00	\$2,800.00	\$861.00	\$1,722.00	\$800.00	\$1,600.00
8		Adjust Existing Water Valve Box work fully performed.	\$700.00	\$5,600.00	\$840.00	\$6,720.00	\$203.50	\$1,628.00	\$600.00	\$4,800.00	\$538.00	\$4,304.00	\$500.00	\$4,000.00
6		Adjust Existing Sanitary Sewer Manhole work fully performed.	\$3,500.00	\$21,000.00	\$3,150.00	\$18,900.00	\$2,530.00	\$15,180.00	\$4,000.00	\$24,000.00	\$1,615.00	\$9,690.00	\$1,700.00	\$10,200.00
- Section 4 - V	Water &	Sewer		\$104,200.00		\$129,820.00		\$85,558.00		\$111,600.00		\$128,766.00		\$135,800.00
Pavement	Markir	ng and Signing												
1			\$13,600.00	\$13,600.00	\$15,000.00	\$15,000.00	\$12,802.90	\$12,802.90	\$45,000.00	\$45,000.00	\$20,039.00	\$20,039.00	\$12,750.00	\$12,750.00
1			\$43,000.00	\$43,000.00	\$40,000.00	\$40,000.00	\$41,332.50	\$41,332.50	\$38,000.00	\$38,000.00	\$64,693.00	\$64,693.00	\$38,150.00	\$38,150.00
Subtotal - Section 5 - Pavement Marking and Signing \$56,600.00					\$55,000.00		\$54,135.40		\$83,000.00		\$84,732.00		\$50,900.00	
Landscapi	ng													
12,126	S SY		\$7.00	\$84,882.00	\$10.00	\$121,260.00	\$10.73	\$130,111.98	\$15.00	\$181,890.00	\$15.00	\$181,890.00	\$9.00	\$109,134.00
	LS	Landscaping Restoration Allowance	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00	\$5,000.00 \$10,000.00
- Section 6 - L	andsca	aping		\$99,882.00		\$136,260.00		\$145,111.98		\$196,890.00		\$196,890.00		\$124,134.00
Contingen	су													
1	LS	Miscellaneous Paving Improvements	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00		\$20,000.00		\$20,000.00		\$20,000.00	\$20,000.00	\$20,000.00
1								\$20,000.00 \$5,000.00						\$20,000.00 \$5,000.00
- Section 7 - 0							* - ,			•	* - ,		* - ,	\$45,000.00
ions 1 - 7)												\$6,263,685.00		\$6,747,587.62
ate 1														
878			\$11.00	\$9,658.00	\$13.00	\$11,414.00	\$13.20	\$11,589.60	\$15.00	\$13,170.00	\$13.00	\$11,414.00	\$8.00	\$7,024.00
878		4" Irrigation Sleeve,	\$6.00	\$5,268.00	\$18.00	\$15,804.00	\$17.60	\$15,452.80	\$20.00	\$17,560.00	\$17.00	\$14,926.00	\$9.50	\$8,341.00
						\$27,218.00		\$27,042.40		\$30,730.00		\$26,340.00		\$15,365.00
Total (Sections 1 - 7) + Bid Alternate \$5,868,723.00						\$5,997,142.85		\$6,102,914.40				\$6,290,025.00		\$6,762,952.62
	12/20/2022   Total Quantity   Water & Set   10   2   10   2   6   - Section 4 - V   Pavement   1   - Section 5 - F   Landscapi   12,126   1   - Section 6 - I   Contingen   1   - Section 7 - C   ions 1 - 7)   ate 1   878   - Bid Alternat	Total Quantity Unit   Total Quantity Unit   Water & Sevent EA   10 EA   2 EA   6 EA   6 EA   6 EA   7 Landscaping   12,126 SY   1 LS   12,126 SY   1 LS   1 S   5 Section 7 - Co-rting   6 878 LF   878 LF   878 LF	Total Quantity   Unit   Description     Water & Sewer   0   EA   Adjust Existing Water Line, work fully performed.     2   EA   Adjust Existing Water Valve Box work fully performed.     8   EA   Adjust Existing Sanitary Sewer Manhole work fully performed.     6   EA   Adjust Existing Sanitary Sewer Manhole work fully performed.     - Section 4 - Water & Sewer   Pavement Marking and Signing     1   LS   Pavement Markings, construct complete in place.     1   LS   Street Signage, construct complete in place.     - Section 5 - Pavement Marking and Signing   1     Landscaping   1   LS     12,126   SY   furnish and install including topsoil, fertilizer, and watering, complete in place.     1   LS   Landscaping Restoration Allowance     1   LS   Iscellaneous Paving Improvements     1   LS   Miscellaneous Drainage Improvements     1   LS   Miscellaneous Utility Improvements     2   Section 7 - Contingency   ions 1 - 7)     ate 1   878   LF   2" Irrigation Sleeve, furnish and install, complete	12/20/2022 THE F   Total Quantity Unit Description Unit Cost   Water & Sewer 10 EA Adjust Existing Water Line, work fully performed. \$7,600.00   2 EA Adjust Existing Water Meter work fully performed. \$800.00   8 EA Adjust Existing Water Valve Box work fully performed. \$700.00   6 EA Adjust Existing Sanitary Sewer Manhole \$3,500.00   - Section 4 - Water & Sewer Pavement Markings, construct complete in place. \$13,600.00   - Section 5 - Pavement Marking and Signing 1 LS Pavement Marking and Signing   Landscaping 10 LS Itrinish and install including topsoil, fertilizer, and watering, complete in place. \$10,000.00   - 1 LS Miscellaneous Paving Improvements \$20,000.00   - 1 LS Miscellaneous Paving Improvements \$20,000.00   - 1 LS Miscellaneous Utility I	THE FAIN GROUP   Total Quantity Unit Description Unit Cost Total Cost   Water & Sewer   10 EA Adjust Existing Water Line, work fully performed. \$7,600.00 \$7,600.00   2 EA Adjust Existing Water Meter work fully performed. \$800.00 \$1,600.00   8 EA Adjust Existing Water Valve Box work fully performed. \$700.00 \$5,600.00   6 EA Adjust Existing Water Valve Box work fully performed. \$104,200.00 \$21,000.00   9 Section 4 - Water & Sewer \$104,200.00 \$21,000.00   9 Section 5 - Pavement Markings, construct complete in place. \$13,600.00 \$13,600.00   1 LS Street Signage, construct complete in place. \$43,000.00 \$43,000.00   12,126 SY Hurnish and install including topoil, fertilizer, and watering, complete in place. \$10,000.00 \$10,000.00   1 LS Infigation Restoration Allowance \$50,000.00 \$50,000.00   1 LS Infigation Restoration Allowance \$20,000.00 \$20,000.00   2 LS Miscellaneous Drainage Improvements \$	12/20/2022   THE FAIN GROUP   ED BELL C CC     Total Quantity   Unit   Description   Unit Cost   Total Cost   Unit Cost     10   EA   Adjust Existing Water Line, work fully performed.   \$7,600.00   \$76,000.00   \$10,000.00     2   EA   Adjust Existing Water Line, work fully performed.   \$77,000.00   \$16,000.00   \$21,000.00     8   EA   Adjust Existing Water Valve Box work fully performed.   \$77,000.00   \$56,600.00   \$840.00     6   EA   Adjust Existing Sanitary Sever Manhole   \$3,500.00   \$21,000.00   \$34,000.00     - Section 4 - Water & Sever   S104,200.00   \$16,000.00   \$15,000.00   \$43,000.00   \$15,000.00     - Section 5 - Pavement Markings, construct complete in place.   \$43,000.00   \$13,600.00   \$10,000.00     - Section 5 - Pavement Marking and Signing   \$56,600.00   \$10.00   \$10,000.00   \$10,000.00   \$10,000.00     - Landscaping   Block Sodding, 12,126   SY furnish and install including topsoil, fertilizer, and watering, complete in place.   \$10,000.00   \$50,000.00   \$20,000.00   \$20,000.00   \$20,000.00	12/20/2022   THE FAN GROUP   ED BELL CONSTRUCTION COMPANY     Total Quantity   Unit   Description   Unit Cost   Total Cost   Unit Cost   Total Cost     Water & Sower   Adjust Existing Water Line, work fully performed.   \$7,600.00   \$76,000.00   \$100,000.00   \$100,000.00   \$100,000.00   \$100,000.00   \$2,100.00   \$2,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$1,000.00   \$2,000.00   \$2,000.00   \$2,000.00   \$1,000.00 <td>12/20/2022   THE FAN GROUP   ED BELL CONSTRUCTION COMPANY   TIBCO PA COMPANY     Total Quantity   Unit   Description   Unit Cost   Total Cost   Unit Cost   Total Cost   Unit Cost   Total Cost   Unit Cost     10   EA   Adjust Existing Water Line, work fully particined work fully particon work fully particined work fully particined work ful</td> <td>13/20/20/2   THE FAN GROUP   El BELL CONSTRUCTION COMPANY   THE FAN GROUP     Total Quantity   Unit X   Description   Unit Cost   Total Cost   Unit Cost   Stal Cost</td> <td>12202022   THE FAM GROUP   DD BLL ConsTITUCTION COMMANY   THEO PAUNE COMMANY   DOM COME     Yotal Quantity   Unit   Description   Unit Cost   Total Cost   Unit Cost</td> <td>12222022   THE FAUL GROUP   EP ELIC CONSTRUCTION CONSTRUCTION   THEO PAVINE CONSTRUCTION   DBLC CONSTRUCTION CONSTRUCTION CONSTRUCTION CONSTR</td> <td>12/2003/2   The First edicity   Bit Balance Distribution on the Section on the Sectin the Sectin the Section on the Sectin the Section on the Secti</td> <td>112 Control Contro Contrel Control Control Control Control Control Control</td> <td>122220221200 Figure 10001200 Figure 1000 F</td>	12/20/2022   THE FAN GROUP   ED BELL CONSTRUCTION COMPANY   TIBCO PA COMPANY     Total Quantity   Unit   Description   Unit Cost   Total Cost   Unit Cost   Total Cost   Unit Cost   Total Cost   Unit Cost     10   EA   Adjust Existing Water Line, work fully particined work fully particon work fully particined work fully particined work ful	13/20/20/2   THE FAN GROUP   El BELL CONSTRUCTION COMPANY   THE FAN GROUP     Total Quantity   Unit X   Description   Unit Cost   Total Cost   Unit Cost   Stal Cost	12202022   THE FAM GROUP   DD BLL ConsTITUCTION COMMANY   THEO PAUNE COMMANY   DOM COME     Yotal Quantity   Unit   Description   Unit Cost   Total Cost   Unit Cost	12222022   THE FAUL GROUP   EP ELIC CONSTRUCTION CONSTRUCTION   THEO PAVINE CONSTRUCTION   DBLC CONSTRUCTION CONSTRUCTION CONSTRUCTION CONSTR	12/2003/2   The First edicity   Bit Balance Distribution on the Section on the Sectin the Sectin the Section on the Sectin the Section on the Secti	112 Control Contro Contrel Control Control Control Control Control Control	122220221200 Figure 10001200 Figure 1000 F